
SAP ABAP table TWLVZ {Assign Shipping Point as Goods Receiving Point to Plant/SLoc}

TWLVZ

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

WANST [CHAR (4)]

T000

MANDT [CLNT (3)] TWLVZ-MANDT = T000-MANDT 0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 TWLVZ-LGORT = T001L-LGORT 
1..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 TWLVZ-WERKS = T001W-WERKS 

0..N

1

TVSWZ

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VSTEL [CHAR (4)]

 TWLVZ-WANST = TVSWZ-VSTEL 

0..N

1


